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Esempio 3.

3. Dimostrare che per ogni n ∈ N

∑
0<i≤n

i3 =

(
n · (n + 1)

2

)2

caso base:∑
0<i≤1

i3 = 1 =

(
1 · (1 + 1)

2

)2

passo induttivo: Supponiamo
∑

0<i≤n i3 =
(

n·(n+1)
2

)2

(ipotesi induttiva); allora∑
0<i≤(n+1) i3 =

(∑
0<i≤n i3

)
+ (n + 1)3

(per ip.ind.) =
(

n·(n+1)
2

)2
+ (n + 1)3

= n2·(n+1)2

4
+
(
(n + 1) · (n + 1)2

)
= n2·(n+1)2+4(n+1)·(n+1)2

4

(propr.distr.) = (n2+4n+4)·(n+1)2

4
= (n+2)2·(n+1)2

4

=
(

(n+1)·(n+2)
2

)2

Quindi l’equazione vale per tutti gli n ∈ N.


